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Instructions : Attempt all questions.

(i) SWH AR EwTh I, 1 Tl 1@ @il sl FHE Sl |

Use diagrams or flow diagrams if it is necessary.
(ifi) ¥ SHETH 23 ¥ 26 T & I H AR fasheq faw mu ¥

In Question Nos. 23 to 26, internal options are given.

(fv) I IR H T T i THA Tl I shHieh fafaa |
Write correct question no. in your answer copy while solving the

question.

(v) T-99 H U € gER s fod |

Write the answer of the question paper as instructed.
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st : (31) U A 1 9 5 Th fqery SUT U § | T W9 W 1 3k reifed
21 (S I Aferehad T-H 1 W5/ 1 )

Instruction : (A) Question Nos. 1 to 5 are very short answer type questions. Each
question carries 1 mark. (Maximum word-limit of answer is

1 word / 1 sentence)

UeT-1  HEE B wed fRA g R ) YR] AR hl SISt SITEHT 1 e § 2 [1]

In human, what is called surgical removal of vas deferens?

yya-2  ufafafem fea geasia @ ura grar g 2 [1]

From which micro-organism penicillin is obtained?

Y9a-3  HEd SAE GRESHET ol 9 Hed § 2 [1]

What is human genome project called?

UoA-4 -9 iifefaen o5 Seffies wemh g § ? [1]
Which ecosystem is the most stable?

Y9a-5  CFCs 1 90 7MW faf@q | [1]
Write full name of CFCs.

T : (9) U HAG 6 W 10 T oY STT T T | TF Y R 2 3k Aeifed
g1 (SR FI Aferrad vesa-THT 30 95 ©)

Instruction : (B) Question Nos. 6 to 10 are short answer type questions. Each

question carries 2 marks. (Maximum word-limit of answer is

30 words)
U9A-6  SgYUI FE ? [2]
What is polyembryony?
U9A-7  TTHU-hITUT SII-9 ol T HifST | [2]

Explain house-keeping genes.
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Y9-8  HMA H T el Shig gF i S1d I o 1H SR dfed faray | [1+1=2]
Write any fwo names of pathogens that cause Helminthic diseases in

human.

UgT-9  SAafvIeh! fRE ed € 2 [2]
What is called Genetics?

YPA-10 A SUIRA ®Hel faehiad i o his af Sevd fafau | [1+1=2]

Write any two objects to develop genetically modified crop.

fAgsr : (F) U A 11 9 22 T oY a9 Y99 ¢ | Teh U9 W 3 3 eifed
g1 (SR HI Aferehad vesa-TAT 50 9% ©)

Instruction : (C) Question Nos. 11 to 22 are short answer type questions. Each
question carries 3 marks. (Maximum word-limit of answer is

50 words)

Yga-11 T Ud e § i dt o fafen | [1+1+1=3]

Write any three differences between Pollination and Fertilization.

U9a-12 54 Ufeerl bt ger, o fieehi ot fashed wET JE S weRar ®, 41 ? [3]

Removal of gonads cannot be considered as a contraceptive option, why?

Y9a-13  hie fHd Fed € ? [3]
What is called Codon?
Y9A-14  HE U F HIs A1 HRON hl GHSET | [1+1+1=3]

Explain any three causes of Cancer diseases.

YIH-15 YIS o SR YEHsHa 6T 1 e i €, ISR 51 fag Sifs | 3]

Give example to prove that microbes release gases during metabolism.
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[4]
T WU o T 81 o 1E @1 ShRYT fafay | [1+1+1=3]

Write any three reasons for the destruction of wildlife.

IIGH Ta U H g a1 iR fafan | [1+1+1=3]

Write any three differences between Producer and Consumer.

ThThi hid hi 3fEd SR gRI THETET | [1+2=3]

Explain the monohybrid cross with suitable example.

Toh 9 IEY T Teh JU-Y a8 Sl o foame gR1 Sca dami ohi
SR ShElt BT 7 et 3@ T §R1 SHemsy | [3]
What will be the hereditary of the offspring when a normal male
marries with colour-blind carrier female? Explain it with only ray

diagram.

= U qehdieh W Teh dfare feomon fafgn) [3]

Write a short note on stem cell technique.

TR 9gWYT <l TR 6 o1t 618 & Suri <l fafaw | [/4x6=3]

Write any six measures to control soil pollution.

fordt fimiiferer & ® Sfa &ffd & =+ 717 9@ SR fafen | [1+1+1=3]
Write any three major causes of species losses in a geographical

regions.
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: (3) U HUH 23 H ITNT Y © | 39 W W 4 ek A6fed € | (S hi

sifeRan vree-diH 75 U ®)

Instruction : (D) Question No. 23 is long answer type question. This question carries

UIT-23

fdor

4 marks. (Maximum word-limit of answer is 75 words)

YRSTrell S oI € 2 39 Siqeil o1 Scute fohd hRonl 9 foharm Srn § 2 S

AT SR fafaa | [1+3=4]
What are transgenic animals? Why are those animals being produced?

Write any three reasons.

sTeqar

OR

AT AR 3= € ? SHh AMd Sied | g a9 Hed fafa |
What is Genetic Engineering? Write its any three significances in

human life.

: (3) U HHI® 24 9 26 I <™ ITUT I © | TIF I W 5 3k 3Tefed

T (S I Afehan Tg-HHT 750 IS ®)

Instruction : (E) Question Nos. 24 to 26 are long answer type questions. Each question

carries 5 marks. (Maximum word-limit of answer is /50 words)

U9A-24 AR ek Sed § geusid & HE gre STAITAe S 3R dfed
HHARY | [1x5=5]
Write any five uses of microorganisms with example in our daily
life.
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arerar
OR

F 39 o Hi=d © fop fasmor fove =1 Uoepieiad / 91 999 & fau
guTferd oY Tehd § 2 fE T, o afed R Y 3T 3119 Wl o= Hehdl § 2 [144=5]
Do you think that friends can influence one to take alcohol/drugs? If

yes, how may one protect himself / herself from such an influence?

Y99-25 Tk YISTUh YUThT ohl TIAT 1 ATHifhd 3@ aTR 171 91T <1 Tk

gqE *E fafaa : [2+3=5]

(37) 38 HIfIThT
() wfaya HIfsep

(¥) TRHH HIfhTT

Draw a labelled sketch of a typical embryo sac and write one main

function of the following :
(a) Eggcell
(b) Antipodal cells

(c) Synergids

OR

Toh IRYFE TRTRTN hi T T AHihd 3TRE IR 791 9T &l Teh

C e o

AHY onld [y ¢

(37) A
() THsg
(Q) SRR
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Draw a labelled sketch of a mature pollen grain and write one main

function of the following :
(a) Exine
(b) Germ pore

(c) Generative cell

UYT-26  TE-YIe 1 ¥ ? SR H =L 1S g HesT i F, e H feRa
TR & A0 YIEY F S T o+ 2 [2+3=5]
What is co-dominance? How many types of phenotype and genotype

will be formed in F, generation? Explain the example with the help

of checker board.

sfar
OR

STYUT TR A1 © 2 ST hl =k 1S 51 wesy foh F, W@t # foha

TR o T8I0 YIEY o ST I8y o= |

What is incomplete dominance? How many types of phenotype and
genotype will be formed in F,, generation? Explain the example with

the help of checker board.

oooooooooo
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